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Specific Instructions: (i) There are total eight questionsin two Sections printed both
in Hindi and English.
(ii) Answer five questions, selecting atleast two questions from

each Section.
(iii) Marks are given against each question.

(iv) All questions carry equal marks.
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“Organization is that machinery of management for the achievement of the ends
determined by administration.” Discuss this statement.
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Explam the main features of classical organisational theories and list out the criticism
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of these theories.
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L~ Discuss the sources of ‘power’ in an organisation.
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“In many successful business establishments, decision making is centralised in
the hands of those great businessman who founded those establishments.” Does it
prove that centralisation of decision making authority is the key to their success ?
Discuss in this connection the pros and cons of decentralisation of authority.

TSI SqTRR 12 7 GBI SAFER il e e e o g $ifvr |
What is organisational behaviour ? Discuss the challenges and opportunities for
organisational behaviour. .
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What are the difficulties and problems of building a sound organisational structure of
an economic enterprise ? Can there be an ideal structure for a given kind of business ?
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“Informal organisation is that network of personal and social relations which is

not established or required by formal organisation.” Amplify this statement and
differentiate betwee and informal organisation.
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Explain the different types of conflicts and its causes.
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How organisational goal can be integrated with the individual goa‘ﬁ Explain.
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What do you mean by ‘Chain Effect of Change’ ? Why changes are caused in business
organisations ? Explain with suitable examples. N

3§ AT e I e v = Sur it sqmen hifvu |
Discuss the various measures to gain more power in an organisation.
Tl § e 1 ferlier ot feram STTer @ ? oame hifdr |

Why changes are resisted in organisations ? Discuss.
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“Human Resource Management, is clearly a management function not a third force
as practised in some industries.” Comment on this statement and discuss the various

activities of Human Resource Management.
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" Differentiate between recruitment and selection. Briefly discuss different types of
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Indian Scenario.
b

tests.
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amine the rationale of industrial relations in an organisation in the context of
_—
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“Executive Development Programme seeks to develop the overall personality of
the Executives and not only the skills necessary to dothe job efficiently” Elaborate

this statement and discuss the ‘Executive Development Facilities in India’
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Discuss the various factors that contribute to high morale among workers of an
industrial organisation. In this context, explain the role of ‘joint consultation’
between employees and employers.

“‘seft 1@ wiseen @ fores gro watew gfaen Y wmeA o wia smefda fRn s 1
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“Recruitment is the process of attracting best talent towards the organisation.”
Comment on this statement.
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Distinguish between autocratic, democratic and free-rein leadership and explain
their managerial implications.
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Discuss the scope of collective bargaining. What are the requirements of an effective

collective bargaining ? \)’» .
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Examine the scope of Industrial relations. s - o(\ /
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'If there is a pre-mature inclusion of workers in management, either, they will be
bought up by the management and effectively silenced or ifthey are made of sterner
stuff, they will, inspite of the best intentions, prove destructive and resentful towards

management. Comment.
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‘Prevention of disputes is good measure for industrial peace.” Elucidate this
statement and explain the methods of prevention of industrial disputes.
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Give a comparative analysis of Taylor’s differential piece wage and Emerson’s
efficiency plan.
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